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An ellipse, with foci at (0 2) and (O —2) and minor axis
of length 4, passes through which of the following
points? (2019 Main, 12 April Il) F5(§2)
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In an ellipse, with centre at the origin, if the difference

of the Ie lengths of major axis and minor axis is 10 and one E“,)
of the foci is at (0,5 5[ 3), then the length of its latus
rectum 1s (2019 Main, 8 Aprikh 0,
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Let the length of the latus rectum of an ellipse with its
major axis along X-axis and centre at the origin, be 8. If
the distance between the foci of this ellipse is equal to 5k
the length of its minor axis, then which one of the "acy) s

following pointsties onTt? (2019 Main, 11 Jan Il v
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If the normal to the ellipsé 3x“ + 4y =12 at a point Pon it o2 )
= is parallel to the line, 2x + y—4 and the tangent to the > //@4)
ellipse at P passes through Q4,4) then P@Q is equal to e R
B (2019 Main, 12 April I) — \‘\ .
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The tangent and normal to the ellipse 3x% + 5 y2 =32at the

point P(@ meets the X-axis at () and K rgspectively.

Then, the area (in sq units) of the APQR is
(2019 Main, 10 April I1)
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I If the line x —2y =12 is tangent to the ellipse % + # =17

—_—

at the point (3, ;—9] then the length of the latusrectum of
S Le= 2y

the ellipseis > (2019 Main, 10 April I)
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If the tangent to the parabola y* = xat a point (o, B), (3 > 0) /K

1s also a tangent to the elhpse X

+2y* =1, then a is equal “\¥<
(2019 Main, 9 April I1)
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If the tangents on the ellipse 4x* + y* =8 at the points
il = ‘p(‘ig g 2.

(1 2) and (Q) are perpendicular to each other, then ¢~ is

equal to (2019 Main, 8 April 1)
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The eccentricity of an ellipse whose centre is at the . /_ }

originis 1/2. If one of its directrices is x —@ then the |
equation of the normal to it at is MmN I=—0/ J ‘tm/e
‘1— (2017 Main) <
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If tangents are drawn to the ellipse x*+2y*=2 at all

()
~ points on the ellipse other than its four vertices, then the
mid-points of the tangents intercepted between the
coordinate axes lie on the curve (2019 Main, 11 Jan|)
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Ifthe area of the triangle whose one vertexis at the vertex — u= -4 (x-¢*) =©
of the parabola, y*+ 4(x — a®)=0 and the other two

vertices are the points of intersection of the parabola and

Y -axis, is 250 sq units, then a value of ‘a’ is vic, o)
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Ifthe area of the triangle whose one vertexis at the vertex  y- -4 (x-¢?) =0
of the parabola, y*+ 4(x — ¢®*)=0 and the other two

. . : : Y'z-nu=o
vertices are the points of intersection of the parabola and

Y -axis, is 250 sq units, then a value of ‘a’ is vic, o)
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The tangents to the curve y = (x — 2)% — 1 at its points of Ul = _-1)7'

y=G-3 -1
» intersection with thelinex — v = 3, intersectat the point 0
— (2019 Maln 12 AprijH) Xo=Y
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If the parabol t\(2—4g_ )3nd s "ot 49 s
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